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QUESTION 1

SRDF/A has been enabled between two VMAX3 arrays. An extended loss of all RDF links occurs. What will the RDF
pair state be afer link connectvity is restored? 

A. Suspended 

B. Parttoned 

C. Failed Over 

D. Split 

Correct Answer: A 

 

QUESTION 2

A VMware administrator has been tasked with manaiini storaie for an ESXi cluster connected to a VMAX3 

array. The administrator is not familiar with Unisphere for VMAX and wants to use the VMware Web Client 

to provision RDM volumes to virtual machines. 

Which EMC product provides this functonality? 

A. VSI Plui-in 

B. VASA 

C. PowerPath 

D. SYMCLI 

Correct Answer: A 

 

QUESTION 3

You are in the process of desiinini a VMAX3 soluton for a customer. The customer has concerns about 

which SLO should be set for the applicatons that will be miirated from an existni VMAX 20K array to the 

new VMAX3 array. Performance data on the VMAX 20K array is available. 

What should be recommended? 

A. Analysis of the existni performance data to determine the appropriate SLO 

B. Optmiied SLO - FAST provides the best performance based on resource availability 

C. 20% Flash capacity and Diamond SLO 
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D. 20% Flash capacity and Platnum SLO 

Correct Answer: A 

 

QUESTION 4

You are desiinini an SRDF/A soluton between two VMAX3 arrays. The customer wants to know what will happen to an
actve SRDF/A session if there is a temporary link loss. What informaton should be provided to the customer? 

A. SRDF/A session remains actve. Cycle switchini contnues on the R1 side, transmit queue depth increases. 

B. SRDF/A session remains actve. Cycle switchini stops, capture cycle irows. 

C. SRDF/A session drops. Cycle switchini stops. New writes to R1 are tracked as invalids to R2. 

D. SRDF/A session drops. Cycle switchini stops. New writes to R1 are added to the transmit queue. 

Correct Answer: A 

 

QUESTION 5

You are in a meetni with a customer describini the features of VMAX3 arrays. The customer wants 

additonal informaton about the VMAX3 factory pre-confiuraton. 

Which objects are pre-confiured at the factory? 

A. Disk Groups, Data Pools, and a Storaie Resource Pool 

B. Storaie Resource Pools and Maskini Views 

C. Disk Groups, Data Pools, and Storaie Groups 

D. Data Pools, Storaie Resource Pools, and Port Groups 

Correct Answer: A 
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